128 +70 +5¢°
<12a| b| - 4b| ¢| - 16c - 16.

a= ,b= ,C=
2. abc R, a>b>c,
a+b+c=0. ,—C -
a

3. 4- X - J1- ¥
, X ; 4- - 1- ¥

, X -

4 (o)} o7 )

112 63,
AB ,AB
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50 , 150 , 5. XxOy ,
15 , 150 ABCD A(-11) , C(1.1+2.J/3).
, B D -
1. (1) 6 m n , mn
45 - X - 4x+2=(2x+0)* (x +B) +y 1
. apy; .
2 | x| =1 4 - X - Ax+ 6 , 8
2 : , 15
2. ABC o} CA n : ,m=
BM G H, G B n= .
H BG= HV ,AB =2. ., BC , X- 6 3x-7
CA , GH ? . Nx-11_ x+6 —
CH . 8. ab , b<0,
3. - al 1a21 vaﬂa ] y: aX2 + bX+ a2 +ﬁa_ 4 1
,31:22 s i,ai+1 a=
a . a2 006 y
-1/N\1
0 x -
1.

—(}QY-; 0; /] x

1

9. 2, ABC ,AB=BC=5,AC
=7, ABC o AC
M, M B
BC MN O é: 2
N, N O
A P M [#4
AC P

MN - NP=
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10. 12.1 EM = vV HM( HM + GH)
= /BG(BG+ GH) = BF.

1 , o ,AM = AB =2 ,AC=2AM =4,
, 0.2 . , BC=2a. BF=BD,CD = CE, ’

_— ) AE=AF=%(AB+AC- BC) =3- a,

’ BM=FB=a- 1
E— ) GH=x,BG=HM=y.
y(x+y) =(a- 17

1. (1) BMZZ%[Z(ABZ+BC2) - AP
4 - X - Ax+2=(2x+a)?(x+B) +y , 1
A - - 4x+2 =I[2(22+4a2)-42]:2a2-2,
:4X3+4((] +[3)X2+((;(2 +4) x+C(2B +Y . [y+ (x+y)]2=2a2- 5
4@ +B) = - 1,
(Xz = -
+ 4B 4, x= W -2(a-2?%+2,
aB +y =2, 4-2<2a<4+2, 1<a<3.
4
a=1, a=-, . a=2  x 2, Ac=
B=-%, p-13 BC=4 GH J2.
12 3. 2222022, 9
_L.’) m+6 m
Y =7 y =2 248,751, |, 2 2 9
27
(2)3 , 2006=334%6+2, a9
4x - X - 4x+2
4, , a1 9
=(2x+1)2 x—%] +1—fs%, 4.
2
x—-l a4 - % - e d ° 7
T2 o : & 9 7
2
4x+2 % & 9 '
a9 4, a3
. 9 4.
e -44)(2+2 13 2 _2 Jan =27 <27 <107
=[2x-3 X+E] t o2, a 9 x 669 =6 021,
ya < 2 5 -
x=2 48 - Ax+ 2S6021° <37 x10°;
3 a 9X7+2=65,
2 <@pR2 — .
2 - a; <65° =4 225;
2. BC> AB. 3, o©O BC CA a 9x3+3=30,
AB D E F. AE=AF. as <30°,
au ag ’
W 9 4
a <307, L &1 27
, 16 169 484 .
3 as 49 256 ,

a =169 ,a;, =256, ag =169,
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a6 = 169.

3(4d - 4a] b| + 1) + (4K° +4b| ¢| + ) +
4(F +4c+4) <0,
3(2a- | b)*+ (2b+| c|)*+4 (c+2)<0.

2a- | b =0,
2b+| | =0,
c+2=0.

1 .
a—z,b— l,c=-2.

a>b>c a+b+c=0, a>0,c<0.

0O=a+b+c<2a+c=- 2a<c:>—ac'> -2;

O=a+b+c>a+2c=>- —2a‘>c:>j2'< -‘l'.
3. ,x=tl—3; ,
x=x1,0.

4- - J1- ¥ =3+(1- ) - J1- ¥
2
:[ M- 2_L] +L_

2 4
2 2
. =0 1, x=+10 |,
4
3
4. 168.
AB = = J(112+63)° - (112- 63)°
=2 /112 x 63 = 168.
5.(/3,/3) (-/32+J/3).
AC T(0,1+/3).
ABCD T o,
A(-1,-3),c1,/3).
AC O 9w,

B (/3,-1),D(-/3).
B(/3,/3) ,D(- 3 2+/3).
6. m=17,n=13.
6m+8n+15=mn.

(m-8)(n-6) =48+15=63
=1x63=3%x21=7x%9.
n , n=13,m=17.

13+5./2

7.% =19 ,% = 7

7x° - 159%° +511x - 323=0,
(x- 19) (7x° - 26x +17) =0.

13352

X1 =19,%3 = 7

A

3 X< - 6.

x>11 <x<3

X1=19,X2:

MN BC, VA P M ¢

BC
D _ 10 _
msC—S.Sx 7 =5,
PN=PM=PC- CM=1.5,
l:
10

Cb=0M=3.5,PC=

MN=2PMos C=2x1.5x 2. 1.

,MN - NP=0.6.
10.11 3. 1.
X )

y=%{12.1+ x><1+—;[0+0.2(x- 1)&

=O.9+0.1x+12)'(‘l

20.9+2 J0.1x12.1=3.1.

121

O.1x-—x, x=11( ) ,

31



